Rl EXERCISES

B SKILLS AND CONCEPTS

In Exercives [-7, answer all of the following questions for eack
Juniciien

a. What i3 the period, the amplitude, the frequency, and
the equation of the midling’?
b. What are the maximum and minimum valoes of 7

c. (iraph the function without using a calealator. Make
sure 1o graph at least one complete period.

d. Where are the horizonal intercepds {if they exisi)
located?

e, Where iz the vertical intercepd located?

f. Describe the transformation of the fumciion as
related to the graph of /{81 = sin(d]) or fif) = cos(d), as
appropriate.

1. Ay = 4 cos); 8 15 in degrees,
2. it = cosf2d) o ks in radians.

3. 010 = 1in(i ﬂ);ﬂ i5 in degrees.
4, fif) = cosi@ — 1207 015 in degrees,

5. fif) = Jsi.n(ﬁl + ’—::) # is in radians.

3B, Averape Temperatures  The function
Him) = -m.mm{:[m - 13) + 60,45

models the average lemperatures in degrees Fahrenheit in
Hunisville, Alabama, during month s of the year. Using
ilse function Flod given in Exercise 37, graph & and T
fogether using a calculator, Describe the similarities and
differences between the two functions,

3%, Average Temperptures  The lunction

Sim) = '?.liﬂvﬂ{:[m n) 578

maodels the average temperatures in degrees Faliren bheit
in Syduey, Australia, during month m of the veur, (Sewce:
Pelaabcled from dadu at www.engrood mvionede)

b

Giraph H(Irom Exercise 38) and 5 together using a
caloulator.

Deeseribe the similarities and differences betwesn these
Lwo functions.

Why wis o positive cosine function wsed to model 57

 What accounts for the differences between the averags

temperatures in these locations?

o What is the phase shift in 57 Interpret this value.

Supposes we wanted 1o use a negative cosine Nnclion 1o
medel X imstead. Fill in the Blank to create a Tunction
that models the average lemperatures in Sydney,

Slm) = —9.-1[]1:[1!-{%:_]) + 578



